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1. Calculators and Mobiles are not allowed.

2. Write legibly.

3. Show all your work. No points for answers without justification.
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Question
Number

Points Maximum
Points

1 20

2 6

3 72

4 18

5 24

6 10

7 10

Total 100



u7 Math 201.152, Exam If

1.. Consider the following lines:

L1 : r : 1 * 2t, y : 2 + 3t, z : 3 * 4t, t e (-*,*)
L2 : fr : 2 * 6, U : 4+2s, z : -L- 4s, s € (-oo,oo)

(a)[7 points] Find the point of intersection between Ll and L2.

y",nl. 4

(b)[7 points] Find an equation for the plane containing the point S(2,0,1) and
the line ,L1.
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(c)[6 points] Find the distance from the point 5(2,0,1) to the line.L1.
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2. Identify the surface given by each of the following equations (give the name only):
(a) [3 points]2r2 +3a2 - 422:0

Eo -c- rlr
4i = ax'-2f, r an g\(rPt ic V- i U'

('c'.xrs '. ?-txs)

(b) [3 points] z2 - tr2 - 5y2 : 4

t ; sJ :t , 4 U5pe<b"€"'d-i b't^rtsh*:<ts Et

" 
-" -A ir , 

,qxrsr z_<xrs)

3. Find the limit or show that it does not exist.
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(b) [6 Points] 
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4. Let f (*,d: 4 ln(3 - 2r' - A').

Coma,n

[5 points] Find and sketch the domain of /.

I crr:.) : 3-exa$ > "\ trl

lcxr!. ax"t5"(3] '

(b) [7 points] Find the range of /.

6r anj yo,n| *D) rn *he Jornorn '1
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o
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\
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S. *ho R^t3e i s C-&tq1n3l,

(c) [6 points] Find an equation for the level curve of / passing through the point

(1,0). Sketch the level curve.
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5. (a) [r0 points]Let z: ran-l (##), -r ) 0, y > 0. Find

/ 0z Dz\
@+a) ("*- - rd)

(G*6).*
.2t:

7x

(Simplify your answer).
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(b)[6 points]

Af Jq
o14 a5
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Let f (r,g) : ln(u3 * uo), Lr:2r * A, u :3r - 3r. Find /r(1,1).

I)

/\bLy

)r =?5

(c)[8 points] Find #hif the equal ion zs - rz - y

a function of r and y.

F(x,9rz): ; - xa-3
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w

6. [10 points] Let f (r,A): 13 - r2A - 92. Find the unit vectors t7

such that D.f (L,-1) : -t.
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9 *^ (tro/) = o

_.) *,{to,r/ = I-

== +z(2,ort) = o

(b)[3 points] Estimate the value of /(1.9,0.1, 1.1).

Fio''. gart (a7,

* try,21 ry L(o:,l,*) r.rhsn h,ot,a) rs ntar (\o1t)

Srrrcr Ct,'), a'|, l.l) ^t t l')€ar (Q''o,lr ) r1hz"'

7. Let f (r,A,n:*y
(a) [7 points] Find the linearization of / at the point (2,0,1).

L cr, )tz) =f Ca, o1t) +l^(a,", t) (x-2) * '1, (*''l r) (5-') * |=C+o7r) &-0 Ei
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